A
SF27 WAGNER

B &N AR

1C10014B

AR « i - MRS T ERKEET2HR/HVET, 2024.02



SF27

A
WAGNER

Ak - i - MR T ERKERT2ENHYET,

POS in i i BB TEAT fii#5
1 9900336 |/ fA /AR L 2 230(M6 X 40

3 340303  |Zviaran 2 1,100

4 341257 | \oTU TRy 1 92,600

5 9905111 |~FPo—THor’hnl 5 230|M5 X 20

6 9905112 | ~FHo—7hl 4 280[M6 X 20

7 341493 | B 3— 1 3,200

8 341494 | HAT b 1 680

9 9900312 [N IRV 1 210[M6 X 20
10 340302 | TA4 7T L—h 1 910

11 341353 | HfH~L R 1 8,400

12 341352 | F—U— 1 21,600

13 341706 |7 RT LT — 1 68,400/ O Pos14 ~ 21
14 3056464 | AF v VLT O () 2,300|75 X 2.5
15 9970532 A AL —)L O 1) 2,900[40 X 70 X 10
16 341324 |f@s v 7k O (1) 18,700

17 9960151 |[R—nr TV O (1) 4,0006207

18 9922518 (A F w7V O (1) 340[35 X 1.5
19 9960431 |m—F 7Y S O (1) 34,500/ NUTR25

20 9922506 |AF > TV O (1) 460[25 X 1.2
21 9960432 |o—F—~_7U O 1) 18,700{NJ202

24 9900315 | /<fA /AR 4 210|M6 X 25
25 9920806 [T p— 4 250

26 341225 | A AR TS 1 99,600

27 1 PR AF]
28 341445 |VF—>F a—7 1 410

29 288317 |0V 1 190[6.07 X 1.78
30 288309 | AT /LR 1 820

31 341446 |WMAF =2—7 1 460

32 341307 | H A& b 1 820

33 341309 | AANKRL T I R— 1 30,100

34 3050858 |Tvi p— 6 200

35 9906007 | 7SF AR L 6 380|M5 X 45
36 341348 | AANYT— 1 3,400

37 9971146 |0V 1 46016 X 2

38 341349  |AANFro T 1 1,400

39 9953177 |arF o — 1 18,700[120 1 F

40 9900341 | N IAFRILE 1 230|M8 X 12
41 341233  |=rbo—La=yh 1 180,000

42 9950804 |7 mAYE 1 280

43 341215 |E—%—&vk 1 230,000 @ Pos44 ~ 48
44 341398 |E—H—T 7 @ (1) 8,400

45 9922508 | AF v TV o () 280/14 X 1

46 341397 |z7rodn— @ (1) 18,700

48 9900737 |9 0EIfF/NAL ® (3) 200[M4 X 6

51 340354 [ HAHZ B 1 2,600

52 2231000 |OA TH 74— 1 2,700

53 9953119 |&ER=—K 1 13,700| ¢ 2 X 6m
54 9951074 |a—KrF07 1 1,400

55 9951075 |a2—Ks7 7 ) vk 1 280

56 341235 | 2AvTFRT 4 1 31,500

57 3050639 | I 0EIfF/ AL 3 200|M4 x 40
58 341237 |(AAvTF T 1 6,900

59 341413 [ikwiar 1 6,000

62 9971365 |O UL 1 380[9.25 x 1.78
63 340222 [~ EVR 1 28,700

64 10861 AN 1 410

65 10858 |79 7 1 280

66 10859 | ARy UL 1 800

67 341219 |=vbo—n 7 1 3,600

68 1 kAT

2 LC10014B

2024.02



A
SF27 WAGNER

R TER

IC100158B

AR « i - MRS T ERKEET2HR/HVET, 2024.02



SF27 4
WAGNER
POS 7 il S TEAM ik
1 341241 | AFRPRLARA 1 18,700
2 341316 |[FaFrH— (1) 1,400
3 9971486 |0 V7 (1) 3,400| 5
4 340339 | AHAF =2—7 1 1,400
5 252279 | AT AT 1 28,700
7 341336 |ZUv7 1 620
8 341331 | S IAF I T p— (1) 550|526 X 23 X 1.5
9 341330 | IAF I T p— (1) 740/ 32 X 28 X 1.5
10 | 341247 |[WAFfEYH 1 45,700
11 | 9990865 |fRi#xv>~7 1 1,200
12 341322 | ~AUPR—2R 1 76,900
13 341248 |V)—73L7 1 34,500
14 | 9974031 [0V (1) 1,900{12 X 1.3
16 341242 \ZAT 7Tk « AP —MT 1 20,300
18 341711 |75y h 1 21,6000 Pos. 19 ~ 23
19 340361 |7 b O 1) 7,500
20 340368 |Uvip— O (1) 1,900
21 340359 |FLsSvF O 1) 360
22 | 9971469 |0 Vv O 1) 1,900 35 X 2(F7m> )
23 | 340358 |VU»Z O 1) 3,600
24 | 341315 |[7Tv2 U 1 11,000
25 | 340322 AR RSV 1 2,800
26 | 344327 ATV IHAR 1 1,200
27 | 341482 |E°Abkv 1 14,200
28 | 9991954 | S1Ef 1 27,200|0 ~ 40MPa
29 | 9970109 |2 —VU 27Uy p— 1 420[9.3 X 3.2 X 5.4
30 | 341702 |V —EREYE 1 8,000|@ Pos31 ~ 37
31 341347 =V T U — ® () 1,400
32 | 341327 |MEHFPRI—F ® () 4,600
33 | 9941501 |[fpAR—/v ® () 2,700[ ¢ 11
34 253405 |[ATV T HER) T @ (1) 490
35 341326  |HHFpARTY T @ (1) 820
36 | 9971470 |0 Vv ® () 62020 X 2« [ (F7712)
37 | 341328 o7 ® () 620
39 | 341325 |PSATHAR 1 25,900
41 341488 | A —H— 1 2,400
42 | 9970103 [2—Uo 7 Uy p— 1 460|14 X 18 X 1.5
43 | 344337 |[R—RAT7q4vTAqL Y 1 7,400|NPS1/4
LC10015B

1k -

i A T ERKEE T DHERDHVET,

4

2024.02



A
SF27 WAGNER

[C10016B
POS T \REA B TEAM ik
341212 |[FY—t vk 1 130,000[Pos.1 ~ 5
1 9920701 Vv y— (2) 530
2 2423511 |¥AY (2) 10,700
3 9994902 |Fvrv 7 (2) 740
4 9920301 [EU v v — (2) 250|A8.4
5 9990866 |=.L\ & (2) 620
10 | 9994691 |7V~ 1 1,800
11 340360 |t 1 4,000
12 | 9900329 |/ /AR 1 210[M5 X 30
13 | 9920202 |7wi— 3 180[M5
14 | 9910106 [Tk 2 190(|M5
15 252264 | TS 1 6,900
16 55553 |74 H—a T — 1 3,400
LC10016B

5
AR « i - MRS T ERKEET2HR/HVET, 2024.02



SF27

A
WAGNER

A9 —2 4ty SF23(P/N 2236262) - SF27(P/N 2236264)

5
; F
@ ©
ID10002A

SF23

POS | W& 4 B TEAM ik

2236262 |7 A 77—tk 1 76,900|SF23

2 | 341275 |UF—>rFa—7 (1) 8,800

3 | 344341 |74 H— (1) 16,000{M28/1.0mm

4 55106 |H AT (1) 3,200{41 mm

5 2236103 | Wy TH 7 H— 1 2,800

6 43052 |Fv T T y— 2 400

L.D10002A

SE27

POS | /& i B TEAT ik

2236264 |7 A7V —rt bk 1 93,800(SF27

2 253211 |V —rFa—7 (1) 11,200

3 341435 |7 42— (1) 18,700{M38/1.0 mm

4 55106 |fxA/NF (1) 3,200{41 mm

5 | 2236103 |HoTH S H— 1 2,800

6 43052 | Fv T U x— 2 400

.LD10003A

Ak - i - MR T ERKERT2ENHYET,

6

2024.02




SF27

A
WAGNER

Y9 artyk (SF23/27/1500) 23 L

SF V) —RIfBL Tz ¢ 88 DY
W2 T )V Z—tw M, FERLERD
F L7z,

ZHmE LT, ¢ 100Dy b
HEA L T2,

(0 88DT 4 )V R—ELRXTY TV
V7RG RTRET )

Ak - i - MR T ERKERT2ENHYET,

— ID10001A
POS R REd B E A 5
1 252297 | AR—ZtE vk 1 28,700[ ¢ 25 X 800 H= A
2230341 | AKR—AE Yk 19,400| ¢ 25 X 800 FEHHIL &
2 1 o 80 -« kA H]
2230342 |7 AIT4NE—F vk 7,800| ¢ 100
3 252270 |UH—7R—AE vk 1 10,100 ¢ 12 X 800 E= A
2230343 |VX—17R—AE vk 10,300[ ¢ 12 X 800 EHH L Z>
4 34602 | A=v7 L (1) 1,800
5 253426 |=A>LF b (1) 1,800
6 2240083 |FR—A/SUR +35 (2) 660(25 ~ 35
7 2240343 |H—RAFV 7 1) 2,800
8 9982430 [ Ad—A (1) 16,000{ ¢ 25 X 800 H= A
2240078 |[AFV LT AHR—A 15,500] ¢ 25 X 800 % HH
9 2240344 |BASAT (1) 8,100
10 2241111 [VE—rR—AH =7 )L (1) 940
11 2240018 |VZ—rR—ARHNAT v (1) 2,700
12 2240002 |AR—ANUR 25 (2) 77017 ~ 25
2240022 |[AR—A/RR -20 780[13 ~ 22
13 | 2230097 |UH—17k—RA (1) 7,300] ¢ 12 X 800 B L
2240071 [AFV T TR—A 6,100| ¢ 12 X 800 FHHHL #>
14 2240349 |VH—1 AT (1) 3,100
15 (1) it A m]
16 219359 |74 H— (1) 2,800(0.8mm ¢ 88
2240346 |74/ 2 — 2,800(0.8 mm ¢ 100
17 252398 | AT VLTV (1) 2,300
2240347 ATV VLT 2,100
7 SF suction

2024.02



